TKEFEAHER(17ADER)

FAi& X 5> HECHERZEENF
EARFEAH 667H
g - 10MZET 58,/ m
K g 10MZHBZ20MET 134,/ m
2 £ 20MERBZ30MET 143M,/m
& f} 3OM%FBAS0MET 148,/ m
T = 50mM%#EZ100MET 1530,/ m
1;5,- § 100M%EZ500MET 1588,/ m
& 500m%#EZ1000mMET 162,/ m
1000M%iBZ =& 5 1670,/ m
§ FRKDHER —AEmMELTERE
2| B | s#EkekEkEsm  |[KEgEREII—AsnEmE
K
% : srkoagm  [EABLESOAEST

XERERHFKkRRERMLREE

(5t &E 4]
HEABMMNIAT, ERHM1,AT

KEKDFERKEN20MDHAFKEHFALTLRES

FRKE 3mx3A=9m
20m+9m=29m

HAREAFR 667H
eEFERAR 10m x58M=580H
(20—10)m x 134MH =1, 340H
(29—20)m x 143H=1, 287H
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